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1. € STTEnT 3 steme i 97
(A) sETETaT HEw
(B) T@r v
(C) wrgaa wweier
(D) ifret tefoaTs

2. &M 91 3o forgeardt |5l Rt g3 or?

(A) 1940 w133
(B) 1950 &1 &w=
(C) 1930 w1 =&k

(D) 1960 =1 <31

3. “Gfear z= 3fem, <few st sfean” =61 T fommy feam an?
(A) S st
(B) gfexr wrieft
(C) wist ieft

(D) i ieft

4. fedt o1 I Fe I A1?
(A) 1967
(B) 1969
(C) 1970

(D) 1971



5. fmafafed & & fora T § Fafmio stidem = or?
(A) dsm=
(B) foree
(C) =femn

(D) e

6. ayd wifera s 1 forere et gorr or?
(A) 1990
(B) 1991
(C) 1992

(D) 1995

7. T T W A AT e feerd 27
(A) =% feeeft
(B) =i
(C) =gtk
(D) &

8. i e hY T e g off?
(A) 1979
(B) 1982
(C) 1992

(D) 1999

9. = ot gR AT Al ST F AT AdT i 4?

(A) =13 © =g
(B) fafim



(C) < weife
(D) 5 & =rg =

10. =T yromeff T foR 3Tt % we 27
(A) sra-sriveres
(B) sa-urferear
(C) wra-==

(D) smra-sfieiant

11, 3o T € T & & werafd w87
(A) Fry S
(B) it e
(CQ) s o

(D) & gz

12. freafafiad § #i € awq S 6w 32
(A) ferefr e
(B) stsramft @
(C) foraeft it =1 frarm
(D) 37 @t

T vIeg ¥ I €1t (One-word Answers):

13. % a1 g Tt sl TIWTET ohT &STt o o faetts or?



14 . deet 3T 3 31eTeT i 97

15. AR = o o] e shef fop or?

fees wort i gt <RitsTe (Fill in the Blanks):

16. 9T T SHEE 3 FEATTF e O]
17 . SATEATe EE A F AE o TR o TeHAT 5
18. fEecd W88 Y e ERICEN

srfirmaT (Assertion) 3t wror (Reason) smamfia aan

19. srfireper (A): wiforra g 3 it wufar it deem 1 wame == = om
ot (R): wiferra w9 & 1917 & gursamdt shifa &1 18 oft
(A) A 3t R <1 @&t 8 3t R, A =l 9t =3t i 2
(B) A st R 3T @t € @ifer R, A i welt s =& s
(C) A =&t 2 et R e =1
(D) A @ € &ifr R &=t =1

20. arfirport (A): wrefe 3, STy i Eqferd Tad # 7eE i 8
ot (R): s & wepfaes o T shers &1 T € it o foreenfua & @ 2
(A) A 3t R <1 @&l 8 3t R, A =l 9t samen i 2



(B) A =it R 21 &= € @fe R, A &t @@t s 7=t s
(C) A =i g wifeT R et 1
(D) A Tera 2 wifer R &= 21

©g @- oy s T (Short Answer Questions): 7= 2 s

21, vra forrs 3 31 ¢ afom sary)

22 . e s 3 fore formmemy ox SR fear or?

23. 3% foewr Hfifd & E=rcteh sl TIdadT 1 Tk ST-aTd Hohdeh w1 A 97? (1S 31 o)
STt
Teefier T wferg oot ferflay)

24 . za-3ea W U widw feweft ferflay
25 .9/ (SAARC) & 329 & shron W fewoft faflay)

26."fafieg g v’ @ 87
ST
Torg Trfifer & yartaror ht fiar & &1 s fefay

27 . a1ehe Tusid T &1 o1d 515y

28. Jfieror 4 319 T gHId &7

ITqaT
Jefiertr o oy 3 &1 shIoT SaTsy)

HYAT

Feftertor & 19 329 sard |



TE T - g™ a9 (Long Answer Questions): w@& 3 sisw

29. STSITE % I ARG o AT S AfEeT garmeht & g fmior i Ikt % 3t 7 A aqisy

30. foerm & i e sqEY
7T

TIAT o S8 9 | s sl &= 319w m?

31. 9 T T TSl T STTITdehTer =T 3RIT T4TE UST? SeTelul dfed ST S1fsig)

IrraT
SATYTARTT hT ST o o1 JROT saTsy)

32.1989 % W& WA USHIT % T UL 1 ® 8¢ 39 Wel & TSHITreh aall o STl deiell 7T 1 97 ogl?

33. T Tt & TMaitea Aifered €@ § gar & forg ames go?

34. &t wreAT o Fmior o 3T @ 87
reraT

afeqor uf¥rrs A s wagtar (SAFTA) = wferw foraor difem)
reaT

= grr fopw T Snifier gawr & @l T Ha 7 Seerd it |

35. 71fh T AT BIAT &2 I Th <1 il T8 AT FLT &7

36. wEteroT Y5 o i o ffa)

T v - s oo T b ik

37 .7 s i g A & € T EAT § oF AR T HeTeiih ST Aredt @F 1971 % SiAest I8 F FaH H I
@

HYAT



(A) sre =t ooy +fifer o fevaoft )
(B) oz ifer o wmedt o werwwfr o fevmft )

38. eyt wifes wEdTE foaTaTeds i or?
ateraT
“orem sTidier: HERfod AfmEm, sThme ot o freeam &t st - T i)

39. T T T % SAIC T % T BT &, Tl T8 3 o forhed @ 2?

arera
ST Tifer ST G 1 T H ARG 1 AR [aRag]

40. Seftertor Y fdfen wftorfaat o & E? SHT IRa W R IS uST?

AT
TR o 3T o T N T AU HIToTT)
TeaT

efraror 3 i s g R ?



